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2N N2

BE: NEHH =25
&2 YA 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 15,011 11,578 3,433
OXNSXUHMNMENHSHSHIXARY
(28 aSEE)
51,7603 *201%145 15,011
201 2et24d] 42,123 40,079 2,044
01 At 2teltl 33,724 33,276 448
O+t 33,724
— XN MA DX A 1,400
HYE=E=DIA
70,0003 #2558 A *80%<&E 2> 1,400
—HEREIENSAIS
50& %10, 00000 x2Z «80%<& 2> 800
—POALR S 500, 0003 *80%<& 2> 400
—SItEEE =2 1,000& 6024 123 720
— SR == 700,000& »23] 1,400
—as8NHdEEHNS++2
2,000 1424 1430 & 4,004
- WEMALBYZMLLE
1,000& 5004 x33] 1,500
—dEgXEHSHIEEIF I
5,000& *100CH *80%< & 2> 400
—dTUHLFALAEMNES 23,100,000& 23,100
02 23224l 8,399 6,803 1,596
O=323<LHA 2,760
—DHIE XS XANAESAZ
60,0003 +3CH+122 2,160
—HEXES XS E LS
5,000& x120A 600
OA& &l Xl 5,639
— PDAR XI 2 2= H| 2,531,000& 2,531
—XNEEMENSHSEIIAAE R X E |
3,108,000& 3,108
202 oddl 10,455 10,455 0
01 SLHOIYI 10,455 10,455 0
ONMEN=d+==c0Hl
20,0003 721 x58 2 x80%<E 2> 6,496
O2AANE NS E ==l
87,4003 221 10 x80%<E &> 1,399
ONMEBseIXt=& 0
20,0003 221 +80 Y x80%<E &> 2,560
303 Z& 3 5,700 5,700 0
01 243 5,700 5,700 0
OFHE+=ZY 2,000,000& 2,000
ONSIHE=ZE LA 3,700,000& 3,700




g

2AM: N2
HE: GEHR 25
Sl RYHSISY el (et
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEAMel= 2el 68,336 77,706 29,370
Nel+=g &= 68,336 77,706 29,370
201 Let24d] 25,217 35,237 A 10,020
01 At 22/l 11,540 14,612 A3,072
Ogt+gH| 11,540
— ALY DR ARE LB
703 *34,00001 33 7,140
— M= DX N2
72,0003 *20 4 KH+80%<&E 2> 1,152
~HESHEURY
60 10,0000 *80%< & 2+> 480
—Me=LdgRAUS
60 21,0000 *80%< & 2> 1,008
- SIHMEEE 4R 540
dTEE 1,000& *30A4 +12& 360
- I EE 3,000 x5 x12& 180
L EEE -]
700,0003 23| x80%<& &> 1,120
— M4 U UMNBIEYRLAD
100,000& 100
02 2324l 13,677 20,625 A6,948
O=323<LHA 13,677
—HA=LINANRERS 13,677,000& 13,677
202 o4l 5,819 5,819 0
01 = LH o4 1l 5,819 5,819
ONA=LHEANSE==0
20,000 501 x57 L «80%<H 2> 4,560
O2ANA=L L=
87,4003 221 x9 «80%<H 2> 1,259
303 Z& 3 14,300 13,400 900
01 243 14,300 13,400 900
ONA+=LSEEHIIE A 2,300
—x*= 500,000& * 104 £ A 500
S 300,000 * 100 £ A 300
- &d 200, 000& *3J4 £ A 600
- R33F¥ 300, 000& »3¢2! 900
ON2+= &= 12,000, 000& 12,000
308 AHAIEHSOIA 23,000 23,250 A 250
10 SIS0t Ba XA 23,000 23,250 A 250
ONA+=LEFEBAAE S 228 23,000,000& 23,000
Zatst BAIRE EA 77,582 77,873 A 291
SEdsteE HEFEIIA A 73,263 73,554 A 291
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& FEEt BMAZ A (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 14 Hl 14,907 13,894 1,013
04 JIZHHZ22XREES 14,907 13,894 1,013
OMgFeSHEANSERADY
(5hHEsaSEE)
51,7603 x1821 322 x50% 14,907
201 et 55,956 57,060 A 1,104
01 At 22l 55,956 57,060 A 1,104
Ogt=&H| 53,016
— HE =LA A 2,353
SALHES 55,0002 9 A x33] x50% 743
S NEEHSATATLYE
100& % 14,0000 *23| *50% 1,400
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2102 *2, 00004 * 13! *50% 210
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17,0003 x200%H 23| *50% 3,400
— FEIHIBES=+= 6,930 *12,500= *50% 43,313
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60,000& *x30= 1,800
—OEH - SADJIA2EHS
4,300,000& *50% 2,150
o249+ 2,100
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70,0003 x1221 x53| *50% 2,100
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7,000 221 «120 «50% 840
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01 = LH 4 1 2,400 2,600 A 200
OMNE =EIIA X AL 20,0003 221 %120 *50% 2,400
gel XM MS =A 4,319 4,319 0
202 oddl 4,319 4,319 0
01 = LH o4 1l 4,319 4,319 0
OS2 MALZLHNREM
20,000 401 x50 «80%<H 2> 3,200
O22 YA AL
87,4003 221 x8 2 «80%<H 2> 1,119
HY2FZH (M) 196,743 188,527 8,216
ol 2 gl 171,496 164,620 6,876
ol 2AH| 171,496 164,620 6,876
101 @14 dl 171,496 164,620 6,876
01 2= 137,788 133,261 4,527
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— s
11,3393 *8AI 2h+101+21 1,905
— Sl 130,000& x1Q1x12& 1,560
— WSl 140,000& =121 x 122 1,680
—mNeirg 30,0008 * 121 122 360
— ZE SO 1,419,370% #1901 x75%*23| 2,130
—2dEE = 25,000& 123 300
|23 bl 25,247 23,907 1,340
JlE&l 25,247 23,907 1,340
201 Let249| 14,928 15,060 A132
01 At 22l 14,928 15,060 A132
Oget==EH| 10,336
—2M2Z 12,920,000 & »80%<& &> 10,336
O= &l 4,592
LB Al HI
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04 223 4,860 3,888 972
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405 TtabF S| 500 0 500
01 ML ES 500 0 500
Od&dnL 500,000& = 1CH 500
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